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 rop6          ATG......A GC........ .......... .........G tgaCcaaGTT CATcAAGTGC GTCACgGTgG
 rop7          ATG......A GC........ .......... .........G tgaCcaaGTT CATcAAGTGC GTCACgGTgG
 rop3 (racC)   ATG......A GCgcggcggc agcggcggcg gcgagctcgG tcaCcaaGTT CATcAAGTGC GTCACgGTcG
 rop1 (racA)   ATGgcgtccA GC........ .......... .........G cctCtcgGTT CATcAAGTGC GTCACgGTcG
 rop8          ATGgcgtccA GC........ .......... .........G cctCtcgGTT CATcAAGTGC GTCACgGTcG
 rop5          ATGgcctccA GC........ .......... .........G cctCccgGTT CATcAAGTGC GTCACaGTgG
 rop4 (racD)   ATG......A GC........ .......... .........G cgtCtcgGTT CATcAAGTGC GTCACcGTgG
 rop9          ATG......A GC........ .......... .........G cgtCcagGTT CATaAAGTGC GTCACgGTcG
 rop2 (racB)   ATG......A GC........ .......... .........G cgtCcagGTT CATaAAGTGC GTCACgGTcG
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 rop6          GcGAcGGcGC gGTgGGcAAG ACcTGcATGC TCATcTgCTA CACcagCAAC AagTTCCCCA CgGAcTAcaT
 rop7          GgGAcGGcGC gGTgGGcAAG ACcTGcATGC TCATcTgCTA CACcagCAAC AagTTCCCCA CgGAtTAcaT
 rop3 (racC)   GcGAtGGgGC cGTcGGgAAG ACcTGcATGC TCATcTgCTA CACctgCAAC AagTTCCCCA CgGAtTAcaT
 rop1 (racA)   GcGAcGGtGC cGTgGGcAAG ACaTGtATGC TCATcTgCTA CACcagCAAC AagTTCCCCA CtGAcTAcaT
 rop8          GcGAcGGtGC cGTgGGcAAG ACaTGtATGC TCATcTgCTA CACcagCAAC AagTTCCCCA CtGAtTAcaT
 rop5          GgGAcGGcGC cGTgGGaAAG ACcTGcATGC TCATcTgCTA CACcagCAAC AagTTCCCCA CtGAtTAcaT
 rop4 (racD)   GgGAcGGtGC cGTcGGaAAG ACcTGcATGC TCATcTcCTA CACatcCAAC ActTTCCCCA CtGAcTAtgT
 rop9          GgGAcGGcGC cGTcGGcAAG ACcTGcATGC TCATtTcCTA CACctcCAAC AccTTCCCCA CcGAcTAtgT
 rop2 (racB)   GgGAcGGcGC cGTcGGcAAG ACcTGcATGC TCATcTcCTA CACctcCAAC AccTTCCCCA CcGAcTAtgT
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 rop6          cCCcACgGTg TTcGAcAAcT TCAGcGCcAA cGTctccGTg GacGGcAgcA tcGTcAAccT gGGcCTcTGG
 rop7          cCCcACgGTg TTcGAcAAcT TCAGcGCcAA cGTctccGTg GacGGcAgcA tcGTcAAccT gGGcCTcTGG
 rop3 (racC)   cCCcACcGTa TTtGAcAAcT TCAGcGCcAA tGTctccGTg GgtGGgAgcA tcGTcAActT gGGcCTcTGG
 rop1 (racA)   aCCtACgGTg TTcGAcAAtT TCAGtGCaAA tGTagttGTg GatGGcAccA ctGTgAAttT gGGcCTtTGG
 rop8          aCCcACgGTg TTcGAcAAtT TCAGtGCaAA tGTcgttGTg GatGGcAccA cgGTgAAttT gGGcCTgTGG
 rop5          aCCcACtGTc TTcGAtAAcT TCAGtGCaAA cGTggtaGTc GacGGtAccA cgGTgAAttT gGGcCTtTGG
 rop4 (racD)   tCCaACtGTg TTcGAcAAcT TCAGtGCcAA tGTtgtgGTt GacGGgAgcA ctGTcAActT gGGtCTgTGG
 rop9          tCCgACgGTg TTtGAcAAcT TCAGtGCtAA cGTtgtgGTt GatGGtAacA ctGTcAAccT cGGcCTcTGG
 rop2 (racB)   tCCgACaGTg TTtGAtAAcT TCAGtGCcAA cGTtgtgGTt GatGGtAatA ctGTcAAccT cGGcCTcTGG
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 rop6          GAcACcGCgG GgCAaGAgGA cTACAgcaGg cTGcGgCCgc TgAGCTAcaG gGGcGCgGAc GTgTTcgTgC
 rop7          GAcACtGCaG GaCAaGAgGA cTACAgcaGa tTGcGgCCac TgAGCTAcaG gGGcGCgGAc GTgTTcgTgC
 rop3 (racC)   GAcACgGCaG GcCAgGAgGA tTACAgcaGg tTGaGgCCtc TcAGCTAcaG gGGtGCtGAt GTgTTcaTcC
 rop1 (racA)   GAtACcGCtG GgCAgGAaGA tTACAaccGc cTGaGgCCtc TaAGCTAccG aGGtGCaGAt GTtTTcgTgC
 rop8          GAtACcGCaG GgCAgGAaGA tTACAaccGa cTGaGgCCtc TaAGCTAccG tGGtGCaGAt GTtTTcgTgC
 rop5          GAtACtGCaG GgCAgGAaGA tTACAacaGa cTGaGgCCac TgAGCTAccG cGGaGCaGAt GTgTTcgTgC
 rop4 (racD)   GAtACaGCaG GaCAaGAaGA tTACAataGa cTGcGtCCgt TgAGCTAtcG tGGtGCtGAt GTtTTtcTgC
 rop9          GAcACtGCaG GtCAaGAgGA tTACAacaGa cTGaGaCCac TgAGCTAtcG tGGaGCtGAt GTtTTtcTtC
 rop2 (racB)   GAcACtGCaG GtCAaGAgGA tTACAacaGa cTGaGaCCac TgAGCTAtcG tGGaGCtGAt GTtTTtcTtC
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 rop6          TggCcTTcTC ccTgaTcAGc aggGCgAGCT AcGAGAAcgT tcttAAGAAG TGGgTgCCaG AgcTtcgcag
 rop7          TggCcTTcTC ctTgaTcAGc aggGCgAGCT AtGAGAAcgT ccttAAGAAG TGGgTgCCaG AgcTtcgcag
 rop3 (racC)   TctCcTTcTC ccTggTcAGc aggGCgAGCT AtGAGAAcgT cctgAAGAAG TGGaTgCCaG AgcTtcgccg
 rop1 (racA)   TtgCaTTcTC acTtgTgAGc cgaGCtAGCT AtGAGAAtaT catgAAGAAG TGGaTaCCaG AgcTtcaaca
 rop8          TtgCaTTcTC acTtgTgAGt cgaGCtAGCT AtGAGAAtaT catgAAGAAG TGGaTaCCgG AgcTtcagca
 rop5          TcgCcTTcTC gcTtgTcAGc cgaGCtAGCT AcGAGAAtgT tatgAAGAAG TGGcTaCCgG AgcTtcagca
 rop4 (racD)   TcgCcTTtTC tcTtaTcAGc aaaGCaAGCT AtGAGAAtgT ctctAAGAAG TGGgTtCCtG AatTaaggca
 rop9          TggCtTTcTC acTgaTcAGt aaaGCcAGCT AtGAGAAtgT ttcgAAGAAG TGGaTaCCtG AacTgaagca
 rop2 (racB)   TggCtTTcTC acTgaTcAGt aagGCcAGCT AtGAGAAtgT ttcgAAGAAG TGGaTaCCtG AacTgaagca
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 rop6          aTtcgCgCcc aacGTcCCgg TcgTtcTtGt tGGgACcAAg tTaGATCTcC GcGAccAcAg agccTaccTc
 rop7          aTtcgCgCcc gacGTcCCgg TcgTtcTtGt cGGgACcAAg tTaGATCTcC GtGAccAcAg ggccTaccTt
 rop3 (racC)   aTtttCaCct actGTtCCtg TagTtcTtGt tGGaACcAAa cTaGATCTcC GtGAagAcAg atctTaccTt
 rop1 (racA)   tTatgCaCct gggGTgCCcg TtgTttTgGc aGGcACaAAa tTgGATCTtC GtGAagAcAa gcacTactTg
 rop8          tTatgCaCgt gggGTgCCtg TtgTgtTgGt aGGcACaAAa tTtGATCTtC GtGAagAcAa gcacTactTg
 rop5          tTatgCaCcg ggtGTcCCca TagTgtTgGc cGGaACtAAa tTgGATCTtC GtGAagAcAg gcacTactTa
 rop4 (racD)   cTatgCtCct ggcGTgCCca TaaTccTtGt tGGgACaAAa cTtGATCTgC GtGAtgAtAa gcagTtttTt
 rop9          tTatgCaCct ggtGTgCCaa TaaTtcTcGt aGGgACaAAg cTtGATCTtC GaGAtgAcAa gcagTtctTt
 rop2 (racB)   tTatgCaCct ggtGTgCCaa TtaTtcTcGt aGGgACaAAg cTtGATCTtC GaGAcgAcAa gcagTtctTt
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 rop6          gccGAcCAtc CTGgagcttc agcagTcaCc ACgGcgCAgG GtGAgGAaCT gaGgAagCag ATcGGcGCtg
 rop7          gctGAcCAtc CTGgagcgtc gacgaTcaCg ACgGcaCAgG GcGAaGAaCT gaGgAggCag ATcGGcGCtg
 rop3 (racC)   gctGAcCAtt CTGctgcttc catcaTctCt ACtGaaCAgG GaGAaGAgCT caGgAagCag ATaGGtGCtg
 rop1 (racA)   atgGAcCAtc CTGgattggt gcctgTtaCc ACtGcaCAgG GgGAgGAaCT tcGtAgaCaa ATtGGtGCta
 rop8          atgGAcCAtc CTGggttggt gcctgTtaCc ACaGcaCAaG GgGAgGAaCT tcGtAgaCaa ATtGGtGCta
 rop5          gttGAcCAtc CTGgtgcggt acctgTtaCt ACaGcaCAgG GgGAgGAaCT gcGcAagCac ATtGGcGCaa
 rop4 (racD)   gttGAtCAcc CTGgtgctgt tccaaTttCc ACtGccCAgG GcGAaGAgCT gaGgAagCta ATtGGtGCtg
 rop9          gtgGAcCAtc CTGgtgctgt tcctaTcaCt ACtGctCAgG GaGAgGAgCT aaGaAagCaa ATaGGcGCgc
 rop2 (racB)   gtgGAcCAtc CTGgtgctgt ccctaTcaCt ACtGctCAgG GaGAgGAgCT aaGaAagCaa ATaGGcGCtc
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 rop6          cggccTACAT cGAgTGCAGt TCcAAaAccC AgcagAAcgT cAAgtctGTc TTcGAtaCgG CcATcAAaGT
 rop7          cggctTACAT cGAgTGCAGt TCcAAaAcgC AgcagAAtgT cAAgtcgGTc TTcGAcaCaG CcATcAAaGT
 rop3 (racC)   tggcgTACAT aGAaTGCAGc TCaAAgAcaC AgaggAAcgT aAAggctGTg TTcGAcaCtG CaATtAAaGT
 rop1 (racA)   tgtatTACAT tGAaTGCAGc TCaAAgAcaC AgcagAAtgT cAAagctGTg TTcGAtgCtG CcATcAAgGT
 rop8          tgtatTACAT cGAaTGCAGt TCgAAgAcaC AgcagAAtgT cAAagctGTg TTcGAtgCtG CcATcAAgGT
 rop5          cttgcTACAT cGAaTGCAGc TCaAAaActC AgcagAAtgT gAAagctGTg TTtGAtgCtG CcATcAAgGT
 rop4 (racD)   ccgccTACAT cGAaTGCAGt TCaAAaAtcC AgcagAAcaT aAAagcaGTg TTtGAcgCaG CaATtAAgGT
 rop9          catacTACAT cGAgTGCAGc TCaAAgAccC AactaAAcgT gAAgggtGTc TTcGAtgCgG CgATaAAgGT
 rop2 (racB)   catacTACAT cGAaTGCAGc TCgAAgAccC AactaAAcgT gAAgggcGTc TTcGAtgCgG CgATaAAgGT
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 rop6          gGTccTtcag CCcCCacggA ggagggag.. .gcagtgcct gccaggAagA Agaacaggcg tggctccgga
 rop7          gGTccTtcag CCcCCgcggA ggagggag.. .gcgacgcct gccaggAggA Agaacaggcg tggctccggg
 rop3 (racC)   aGTgcTgcaa CCaCCgaggA gaagagaa.. .......gtt accaggAagA Aaatgaagac aagttcgaat
 rop1 (racA)   aGTaaTccag CCtCCaactA aaataagaga aaag...... ......AagA Agaaaaaatc acgcaaagga
 rop8          tGTaaTccag CCtCCaactA aactaagaga aaag...... ......AagA Aaaagaaatc acgcaaggga
 rop5          aGTaaTcagg CCtCCgacgA agcagcgaga aagg...... ......AagA Aaaagaaaga acggcgagga
 rop4 (racD)   gGTtcTccag CCaCCa...A agcaaaagaa gagg...... ......AagA Agaaggtg.. .cagaaggga
 rop9          tGTgcTgcag CCgCCt...A aggcgaagaa gaag...... ......AaaA Aggcgcag.. .aggggggcg
 rop2 (racB)   tGTgcTgcag CCgCCt...A aggcgaagaa gaag...... ......AaaA Aggtgcag.. .aggggggcg
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 rop6          tgctCtaTaa tg......aa ccttgtgtgt ggcagcacat gtgctgctta g
 rop7          tgctCtaTca tg......aa cctcatgtgt ggcagcacgt gcgctgctta g
 rop3 (racC)   cagtCtcTga ga......ag atacctctgt ggaagcggat gtttcacatc gtaa
 rop1 (racA)   tgttCtaTga tg......aa catcttcggt ggaagaaaaa tgctatgctt caagtcctga
 rop8          tgttCgaTgg tg......aa catcttatct ggaagaaaaa tgctatgctt caagtcctga
 rop5          tgctCaaTat tctgcagccg tatcatgcac gcaagaagac taggatgctt caagtga
 rop4 (racD)   tgcaCcaTtt tgtaa
 rop9          tgctCcaTtt tgtga
 rop2 (racB)   tgctCcaTtt tgtga
  







rop6
rop8
rop4

ro
p6

ro
p8

ro
p4

ro
p6

ro
p8

ro
p4

Single
plasmid

All rop
plasmids
except:

rop3
rop1
rop9

ro
p3

ro
p1

ro
p9

ro
p3

ro
p1

ro
p9

Single
plasmid

All rop
plasmids
except:

rop2
rop5
rop7

ro
p2

ro
p5

ro
p7

ro
p2

ro
p5

ro
p7

Single
plasmid

All rop
plasmids
except:

A

B

C

D

E

F

Equimolar rop
plasmid mix,

dilution:

1 2 3 4 5 6 7 H 2
O

Equimolar rop
plasmid mix,

dilution:

1 2 3 4 5 6 7 H 2
O

Equimolar rop
plasmid mix,

dilution:

1 2 3 4 5 6 7 H 2
O


	Page #1
	Page #2
	Page #3
	Page #4
	Page #5

